SOLVING ALGEBRAIC EXPRESSIONS V (S-3) Name:

EXPRESSIONS WITH 8 TERMS

Time: Score:

61) Simplify algebraic expression
I X6 —2y—9+7y+0+14+0=

Solveforz =1,y =1

)
b) Solve forx =0,y =1
¢) Solveforx =2,y =0

62) Simplify algebraic expression
lr — (=3y) +8+(—4) — (=1) + (=5) +3 x (=1) =

Solve forx =5,y =4

)
b) Solve forz =2,y =5

c¢) Solve for x =10,y =3

63) Simplify algebraic expression
12—194+9%x0y+8+(—1)+2zx =

Solve forx =3, y =8

)
b) Solve forx =3,y =1

¢) Solveforx =3, y=7

64) Simplify algebraic expression
Ty+ (=3y)+Ty—6+x+ (—12y) +0 x (—9%y) =

a) Solve for x =3 |

y=0
b) Solveforz =3, y=7
¢) Solve forx =3, y=1
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